Examination Practice Papers (Pearson IGCSE 9-1)
Paper 3
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1 Work out the value of 3:23x10-

J1.8x 100
Give your answer i standard form correct to 3 significant figures.
2 Rectangular tes have width cm and height (¢ + 7)cm. - S
Some of these tles are used to form a shape. 2+7] accurately drawn
The shape Is  tles wido and 4 tles high.
“The widih and height ofthis shape are equal L
Form and solve an equation to ind the value of . @
poight
Diagram NOT
accusataly drawn

3 lustrate the following Inequalies on a grah and show the region that satisfies them al. Shade the regions.
that are not required.
132
yo1
20e3ys13 €]

4 The length of flower stems i given inthe table balow.

[T FreouEier
0sx<2 4
2zr<6 75
Gzr<s s
Beroi2 »
An estimate of the mean length of flower stems = 5.5om.
Calculate the value of . R [c]

Not drawn
accurately

[E]

5 A, B, C and D are points on the circumference of  circle with centre O.
Work out the sizes of the angles marked x and y.
Give reasons for allstatements you make.
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6 a Simplify the following expressions fully.

Ta-9wen @ @ e- -1
Wee-3 @ W7 007 1)
b Ratonaise the denominators of
28 Fid
Y @ "
7 A8C s aiangle N
Oagamnor
scarsay dramn
Mis the mic pint of G
Aagle ANC = 50" 13en e
¢ 0 e

P

A solid has fivefaces.

Four of the faces are triangles dentical to triangle ABC. Degrmnor
The base of the sold is  square of side 10cm, e
Calcuiate the total surface area of this sold. dsem
foem
Toem

8 The size of each interior angle of  reguiar polygon with n sides s 120",
Find the interor angle of a regular polygon with dn sides.

9 Draw a co-ordinate grid from -6 10.6 on both axes.
Draw trangle A at (-2, -1, -1, ~1) and [-1, 1

aRotate A 0" kv about 1,2, Lbe eimage 8
b Enarge By sl fcto ot 2, canrof et (4,6, Labl your mageC.
Tt b th vecor 2. Labot eimage O

Rt D50 ok about (-3, -5, Labl h mage €

o Deacrba thesirgle Fansformaion e mape Eori &

EE

0]

m
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10 The table gives information about the ages, in years, of 100 aeropianes.

Ao (o ey
0<iz5 @
5<iz10 26
0<iz15 20
T5<iz20 10
20<1z25 3

2 Copy and complete the cumulative frequency table.

) CLAIVE FrERUERCY
0<ts5
0<iz10
0<t=15
0<iz20
0<rz25

b 0n a copy of the grid, draw a cumulative
frequency graph for your table.

 Use your graph to find an estimate for the
inter-quartie range of the ages.

11 The staight lne, L, passes through the
points (0, 1) and 2, ).

aWite down the equation of L.
b Calculate the equation o the lin that is perpendicular
oL that passes through point 2, 3.

12p=3
a Express pn the form 3, where k i an integer.
g=2x5*
b Express ¢ inthe form 2¢ x 5%, where m and n are ntegers.

B




image4.png
13 a For the equation y = 5000x - 62527, find the co-ordinates of the tuming point on the graph of
/= 50001 - 6252°
b State with a reason whether this turming point is a maximum or a minimum.
© A publisher has set the price for @ new book.
The proft, £y, depends on the price of the book, £, where y = 5000x - 625x¢
State with a reason, the price you would advise the publisher to setforthe book.

14 A 5ol emisphers has a tota srfacs arsa of 3600crT.
o the homisphere's
a dametor
b volume comect to 3 signfcantfgures.

45 Ol store i sither smallcrums o lrge drums.
e shapes of the rums are mathematicaly smir. S—
A smallarum has a volume of 6000c” and a surface area of 2000
The height o a argo crum .3 1mos the hognt of a smal dru.

« it vma ot s i st PURA
i ey Y
Ry eSS rs e o B
ot oo LIt

Diagram NOT
accuratoly drawn

16 The function (x is defined as f

a Find the value of 3.
b State which value of x must be excluded from the domain of ).
1 Find f(x). Give your answer i its simplest form.

1§ What does your answer to part | show about the function {7

w1

17 A boat at point A s due West of Grarite siand (G).
Itsais on a bearing of 120", for 1500, to point B.
Ifthe bearing of G from B is 320", cacuate the distance BG.
Give your answer comect to 3 significant figures.

18 Each student in a group plays at least one of hockey, tennis and football
10 students piay hockey only.
9 play footbal only.
13 piay tennis only.
6 play hockey and football but not tennis. Hookey
7 play hockey and tenris.
8 play footbal and tennis
x play al throe sports.

© Torcis

2 Wite down the expression, i terms.of , fo the number
of students who play hockey and tennis, but not footbal.
Foalbal
There are 50 students n the group.

b Find the value of .

[C]
m

BE

o
0]

0]

[E]
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in this club are men.

19 The number of men in a club is n and J of the peopk
a Write down an expression, in terms of ., for the number of people in the club. @
0 fh pacpein el aechosn a random

“The probabilty that both these people are men is

b el harumborofpoople ntho . [c]
20 The expression =2 - B + 21 can be writen i the form (x - a + b fo al values of .

a Find the values of a and b. [E]

The equation of a curve s = fx) where Itx) = x* - Br + 21

“The mirimum point of the curve is M.

b Wrte down the co-ordinates of M, [c]

21 Prove aigebaically that the difference between the squares of two consecuive inegers s equal
10the sum of the integers. e

22 The diagram shows a sketch graph of = ) =7 + 6x - x*

a Copy the diagram and, on the same axes, craw sketch graphs of

) [l
y = o
iy =2y ©
b Describe fuly each transomnaion. R

© Work out the algebraic equation of each transformed graph.
‘Simpify your answer full. (B8]
Total marks = 100




